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Answers to Student Book text questions





Chapter 2.2





page 155





1





Nitrogen, oxygen and chlorine.





2





Only a very slight increase.





3





There is only a small difference in electronegativity between carbon and hydrogen.


Carbon is slightly more electronegative. This explains the almost regular tetrahedral shape of methane.





page 157





1





HF as there biggest difference in electronegativity.





2





O –





+H





H+





3





Difference in electronegativity between lithium and iodine is 1.5 (2.5 – 1.0). From


table 2.1.1,   percentage ionic character = 43%. So possibly lower melting and boiling points, and soluble in an organic solvent.





page 159





1





a   Non-polar.





b





c





d





Polar.





Non-polar.





Polar.





2





If dipoles act equally in opposite directions they cancel each other out, making the


molecule non-polar.





3





In tetrachloromethane, the four dipoles acting tetrahedrally cancel each other out, but


this is not possible in either chloromethane or dichloromethane.
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